) |3p: _;-Ipe: 75A, |Q= 112 5A

Us= ls*X =4 |3p2+ |Q2' X
=4{ 75+ 112 5°x 8 8= 1 2 (KV)

Q= tg 1:4:: tg’ 111725_5

AUs= Usoos¥= Uss(90°- 56°
=1 2x Q 83=0 99(kV)

= 56°

, |4p = _i-lpe: 37 5A

Us= |4-x:J a2+ 107 X
={ 37 5%+ 112 5°x 8 8= 1 04 (KV)

_,-lo 01112 5
A=1g I~ tg 37 5

AU.= Uascos(90° 71 6°)=1 04x Q 95

=71 6°

10 5kv,

12%

(5)

(1958

- ),

9 5kv,
11 kv
15%

DV P-683 ,

=0 99(kv)
, AU =1 33KV,
AU = 1 33KV
, AU %= %me 100=
2x133 .
e X 100= 12%
(4)
+ 5%
, 15% ,
12 500 kVA
[13 21
1999 12 22
21
21
1999 , 1600 KW,
1000 KW, “ " ,

21
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